

Doubly Nonlinear Parabolic Equation with Nonlinear Boundary Conditions¹

Shu Wang² and Jucheng Deng

metadata, citation and similar papers at core.ac.uk

and

Jine Shi

*Department of Mathematics, Nanjing University, Nanjing 210093,
People's Republic of China*

Submitted by Karen A. Ames

Received May 13, 1998

This paper deals with the existence and nonexistence of global positive solutions of the doubly nonlinear parabolic equation with nonlinear boundary conditions. Necessary and sufficient conditions in order that all positive solutions exist globally are obtained by using the upper and lower solutions method. © 2001 Academic Press

Key Words: doubly nonlinear parabolic equation; nonlinear boundary conditions; global solutions; finite time blow-up; upper and lower solutions method.

1. INTRODUCTION

In this paper, we study the existence and nonexistence of global solutions of the problem

$$\begin{aligned} (|u|^{m-1}u)_t &= \left((|u_x|^2 + \epsilon)^{(p-1)/2} u_x \right)_x, & 0 < x < 1, \quad t > 0, \\ u_x|_{x=0} &= 0, \quad u_x|_{x=1} = u^\alpha|_{x=1}, & t > 0, \\ u(x, 0) &= u_0(x) \geq \delta > 0, & 0 \leq x \leq 1, \end{aligned} \tag{1}$$

¹ Project was supported by the National and Henan Province Natural Science Foundation of China.

² Present address: Academy of Mathematics and Systems Sciences, Academia Sinica, Beijing 100080, People's Republic of China; e-mail: wangshu@math03.math.ac.cn.

where $\alpha \geq 0$, $m, p > 0$ are all constants; ϵ and δ are any given positive constants.

Throughout the paper we assume that $u_0(x) \in C^{2+\mu}([0,1])$ for some $0 < \mu < 1$, $u_0(x) \geq \delta > 0$ on $[0,1]$ and satisfies the compatibility conditions

$$u_{0x}(0) = 0, \quad u_{0x}(1) = u_0^\alpha(1).$$

Our main result reads as follows:

THEOREM. *All positive solutions of (1) exist globally if and only if*

$$\alpha \leq \min \left\{ \frac{m}{p}, \frac{m+1}{p+1} \right\}. \quad (2)$$

In recent years questions like blow-up and global solvability for semilinear parabolic equation or systems with nonlinear boundary conditions have been intensively studied; see [2–6, 8–11, 14–18] and references therein. The Dirichlet or Cauchy problem for doubly nonlinear parabolic equation has also been studied in that extent; see [1, 7, 13, 19] and references therein.

Filo and Kacur [11] considered the local existence of a more general version of (1) and gave some sufficient conditions on the global existence of weak solutions under some assumptions of general nonlinear terms. Chipot and Filo [5] considered the interesting model problem

$$\begin{aligned} u_t &= (a(u_x))_x, & 0 < x < 1, & \quad t > 0, \\ u_x|_{x=0} &= 0, & a(u_x)|_{x=1} &= u^\alpha|_{x=1}, & \quad t > 0, \\ u(x, 0) &= u_0(x), & 0 \leq x \leq 1, & \end{aligned} \quad (3)$$

where $a(\xi) \in C^4(\mathbb{R})$ satisfies $a(\xi) = |\xi|^{p-2}\xi$ if $|\xi| \geq \eta > 0$, $a'(\xi) > 0$, and $|a(\xi)| \leq |\xi|^{p-1}$ for all $\xi \in \mathbb{R}$; $0 < \eta \ll 1$ is any given positive constant. They show that the solutions of (3) exist globally if and only if $\alpha \leq \frac{2p-2}{p}$ for $1 < p < 2$ while $\alpha \leq 1$ for $p \geq 2$ by using the methods of [10] and also derive some blow-up rate estimates near blow-up time.

In this paper we will consider the global-existence and global-nonexistence of solutions to (1). Our main purpose is to show that how the diffusion coefficient, nonlinearly depending on the solution and the gradient of a solution, affects the value of the critical exponent for global solvability. Necessary and sufficient conditions on the global existence of all positive (classical) solutions are obtained by using upper and lower solutions method, which is different from that of [5, 6, 10].

From a physical point of view, the differential equations in (1) have been suggested as some models; see [1–3, 6–11, 13–16] and the references

therein. For example, the gas flow equation through a porous medium falls in the class of equations we consider. The nonlinear boundary conditions in (1) can be physically interpreted as a nonlinear radiation law, which here is actually an absorption law; see [3, 10, 15, 16].

By the results of [12], we know that there exists a maximal time $T : 0 < T \leq +\infty$ such that (1) has a unique solution $u(x, t)$ satisfying $u \geq \delta > 0$ on $[0, 1] \times [0, T)$. Furthermore, if $T < +\infty$, then $\lim_{t \rightarrow T^-} \max_{0 \leq x \leq 1} u(x, t) = +\infty$. It is also obvious that the classical comparison principle holds for (1).

2. PROOF OF THE THEOREM

We will construct various upper and lower solutions and compare them with the solutions of (1).

We will divide the proof of the theorem into two lemmas.

LEMMA 1. *Assume that (2) holds. Then the solution $u(x, t)$ of (1) exists globally.*

Proof.

Case 1. $m < p$ and $p \geq 1$. Take

$$w(x, t) = [a(x^2 + 1) + e^{l(t+1)}]^{p/(p-m)} = y^{p/(p-m)},$$

where $a = \frac{p-m}{2p}$ and $l = \max\{\log(2a), \frac{4ap}{m}(1 + \frac{2am}{p-m})(\frac{2ap}{p-m})^2 + \epsilon\}^{(p-1)/2}, \frac{p-m}{p} \log(\max u_0(x))\}$.

By the direct computations we have, for $(x, t) \in (0, 1) \times [0, +\infty)$,

$$1 \leq y \leq 2e^{l(t+1)},$$

$$(w^m)_t = \frac{pml}{p-m} y^{pm/(p-m)-1} e^{l(t+1)}, \quad w_x = \frac{2ap}{p-m} y^{m/(p-m)} x,$$

$$w_{xx} = \frac{2ap}{p-m} \left\{ y^{m/(p-m)} + \frac{2am}{p-m} y^{m/(p-m)-1} x^2 \right\},$$

$$\begin{aligned} & \left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x \\ &= (w_x^2 + \epsilon)^{(p-1)/2-1} (pw_x^2 + \epsilon) w_{xx} \leq p(w_x^2 + \epsilon)^{(p-1)/2} w_{xx} \\ &= p \left(\left(\frac{2ap}{p-m} \right)^2 y^{2m/(p-m)} x^2 + \epsilon \right)^{(p-1)/2} \end{aligned}$$

$$\begin{aligned}
& \times \frac{2ap}{p-m} \left\{ y^{m/(p-m)} + \frac{2am}{p-m} y^{m/(p-m)-1} x^2 \right\} \\
& \leq p \left(\left(\frac{2ap}{p-m} \right)^2 + \epsilon \right)^{(p-1)/2} \frac{2ap}{p-m} y^{mp/(p-m)} \left(1 + \frac{2am}{p-m} \right) \\
& \leq 2p \left(\left(\frac{2ap}{p-m} \right)^2 + \epsilon \right)^{(p-1)/2} \frac{2ap}{p-m} \left(1 + \frac{2am}{p-m} \right) \\
& \quad \times y^{mp/(p-m)-1} e^{l(t+1)} \\
& \leq \frac{mpl}{p-m} y^{mp/(p-m)-1} e^{l(t+1)} = (w^m)_t.
\end{aligned}$$

Obviously

$$w_x|_{x=0} = 0, \quad t > 0.$$

By using (2) and the choice of a we have

$$\begin{aligned}
w_x|_{x=1} &= \frac{2ap}{p-m} (2as + e^{l(t+1)})^{m/(p-m)} \\
&= w^\alpha|_{x=1} (2a + e^{l(t+1)})^{(m-\alpha p)/(p-m)} \\
&\geq w^\alpha|_{x=1}, \quad t > 0
\end{aligned}$$

and

$$w(x, 0) = (a(x^2 + 1) + e^l)^{p/(p-m)} \geq e^{lp/(p-m)} \geq \max_{0 \leq x \leq 1} u_0(x) \geq u_0(x).$$

These show that w is an upper solution of (1). By the comparison principle we have $u \leq w$. It is obvious that w exists globally, and hence u exists globally.

Case 2. $m < p < 1$. Take

$$w(x, t) = [a(x^{1+1/p} + 1) + e^{l(t+1)}]^{p/(p-m)} = y^{p/(p-m)},$$

where

$$a = \frac{p-m}{p+1} \quad \text{and}$$

$$l = \max \left\{ \log(2a), \frac{2(p-m)}{mp^2} \left(\frac{a(p+1)}{p-m} \right)^p \left(1 + \frac{am(p+1)}{p-m} \right), \frac{p-m}{p} \log(\max u_0(x)) \right\}.$$

By the direct computations we have, for $(x, t) \in (0, 1) \times [0, +\infty)$,

$$1 \leq y \leq 2e^{l(t+1)},$$

$$(w^m)_t = \frac{pml}{p-m} y^{pm/(p-m)-1} e^{l(t+1)},$$

$$w_x = \frac{a(p+1)}{p-m} y^{m/(p-m)} x^{1/p},$$

$$w_{xx} = \frac{a(p+1)}{p(p-m)} \left\{ y^{m/(p-m)} x^{1/p-1} + \frac{am(p+1)}{p-m} y^{m/(p-m)-1} x^{2/p} \right\},$$

$$\left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x$$

$$= (w_x^2 + \epsilon)^{(p-1)/2-1} (pw_x^2 + \epsilon) w_{xx}$$

$$\leq (w_x^2 + \epsilon)^{(p-1)/2} w_{xx}$$

$$= \left(\left(\frac{a(p+1)}{p-m} \right)^2 y^{2m/(p-m)} x^{2/p} + \epsilon \right)^{(p-1)/2} \frac{a(p+1)}{p(p-m)}$$

$$\times y^{m/(p-m)} \left(x^{1/p-1} + \frac{am(p+1)}{p-m} y^{-1} x^{2/p} \right)$$

$$\leq \frac{1}{p} \left(\frac{a(p+1)}{p-m} \right)^p y^{mp/(p-m)} \left(1 + \frac{am(p+1)}{p-m} \right)$$

$$\leq \frac{2}{p} \left(\frac{a(p+1)}{p-m} \right)^p y^{mp/(p-m)-1} \left(1 + \frac{am(p+1)}{p-m} \right) e^{l(t+1)}$$

$$\leq \frac{pml}{p-m} y^{pm/(p-m)-1} e^{l(t+1)} = (w^m)_t.$$

Obviously

$$w_x|_{x=0} = 0, \quad t > 0.$$

By using (2) and the choice of a we have

$$\begin{aligned} w_x|_{x=1} &= \frac{a(p+1)}{p-m} (2a + e^{l(t+1)})^{m/(p-m)} \\ &= w^\alpha|_{x=1} (2a + e^{l(t+1)})^{(m-\alpha p)/(p-m)} \\ &\geq w^\alpha|_{x=1}, \quad t > 0 \end{aligned}$$

and

$$\begin{aligned} w(x, 0) &= (a(x^{1+1/p} + 1) + e^l)^{p/(p-m)} \geq e^{lp/(p-m)} \geq \max_{0 \leq x \leq 1} u_0(x) \\ &\geq u_0(x). \end{aligned}$$

These show that w is an upper solution of (1). By the comparison principle we have $u \leq w$. It is obvious that w exists globally, and hence u exists globally.

Case 3. $m = p \geq 1$. Take $w(x, t) = (x^2 + 1)e^{l(t+1)}$. As in Case 1, it is easy to verify that there exists $l > 0$ such that w is an upper solution of (1). Hence u exists globally.

Case 4. $m = p < 1$. Take $w(x, t) = (x^{1+1/p} + 1)e^{l(t+1)}$. As in Case 2, it is easy to verify that there exists $l > 0$ such that w is an upper solution of (1). Hence u exists globally.

Case 5. $m > p \geq 1$. It suffices to prove that for any $T > 0$ there exists $C(T) > 0$ such that

$$u(x, t) \leq C(T) < +\infty, \quad (x, t) \in [0, 1] \times [0, T]. \quad (4)$$

To this aim, denote

$$\begin{aligned} \tau &= \frac{p}{p+1}, \quad \theta = \frac{p}{m-p}, \\ k &= \max\left\{1, \frac{4^{\alpha\theta+1}}{\theta}\right\}, \quad M = \frac{2^{2\theta+1}k^2(\theta+3)p}{m} \left((4^\theta k\theta)^2 + \epsilon\right)^{(p-1)/2}. \end{aligned}$$

It is obvious that for any given $T: 0 < T < +\infty$ there exists a natural number $N = N(T)$ such that $\frac{N \log 2}{M} \geq T \geq \frac{(N-1)\log 2}{M}$.

For any fixed i , set $\epsilon_i = a(\frac{1}{4})^i$, $i = 1, \dots, N$, where

$$a = \min \left\{ 4^i, 4^i \left(\frac{k}{2} \right)^{1/\tau}, 4(\max u_0(x))^{-1/\theta} \right\}.$$

Take

$$w_i(x, t) = \left\{ \epsilon_i \left[e^{-M(t-T_{i-1})} - \frac{1}{4}(1 - \phi(x))^{k/\epsilon_i^\tau} \right] \right\}^{-\theta} = \epsilon_i^{-\theta} y^{-\theta},$$

where $T_0 = 0$, $T_i = \frac{i \log 2}{M}$, $i = 1, \dots, N$, $\phi(x) = \frac{1}{2}(1 - x^2)$.

It is also obvious that for any given $i = 1, \dots, N$, $y(x, t)$ is well defined on $Q_i := [0, 1] \times [T_{i-1}, T_i] \cap [0, 1] \times [0, T]$ and $\frac{1}{4} \leq y \leq 1$.

By the direct calculations we have for $(x, t) \in Q_i$

$$(w_i^m)_t = M\theta m \epsilon_i^{-m\theta} y^{-m\theta-1} e^{-M(t-T_{i-1})} \geq \frac{M\theta m}{2} \epsilon_i^{-m\theta},$$

$$w_{ix} = \frac{k\theta}{4} \epsilon_i^{-(\theta+\tau)} y^{-\theta-1} (1 - \phi(x))^{k/\epsilon_i^\tau-1} x,$$

$$\begin{aligned} w_{ixx} = \frac{k\theta}{4} \epsilon_i^{-(\theta+\tau)} & \left\{ y^{-\theta-1} (1 - \phi(x))^{k/\epsilon_i^\tau-1} \right. \\ & + \left(\frac{k}{\epsilon_i^\tau} - 1 \right) y^{-\theta-1} (1 - \phi(x))^{k/\epsilon_i^\tau-2} x^2 \\ & \left. + \frac{k(\theta+1)}{4\epsilon_i^\tau} y^{-\theta-2} (1 - \phi(x))^{2(k/\epsilon_i^\tau-1)} x^2 \right\} \end{aligned}$$

$$\leq k\theta 4^\theta \epsilon_i^{-(\theta+\tau)} \left\{ 1 + \frac{k}{\epsilon_i^\tau} + \frac{k(\theta+1)}{\epsilon_i^\tau} \right\},$$

$$\begin{aligned} & \left((w_{ix}^2 + \epsilon) \right)^{(p-1)/2} w_{ix} \Big|_x \\ & \leq p(w_{ix}^2 + \epsilon)^{(p-1)/2} w_{ixx} \\ & \leq 4^\theta k^2 \theta p \left((4^\theta k\theta)^2 + \epsilon \right)^{(p-1)/2} \epsilon^{-(p(\theta+\tau)+\tau)} (\epsilon_i^\tau + \theta + 2) \\ & \leq 4^\theta k^2 \theta p \left((4^\theta k\theta)^2 + \epsilon \right)^{(p-1)/2} \epsilon^{-(p(\theta+\tau)+\tau)} (\theta + 3) \\ & = 4^\theta k^2 \theta (\theta + 3) p \left((4^\theta k\theta)^2 + \epsilon \right)^{(p-1)/2} \epsilon_i^{-m\theta} \\ & = \frac{M\theta m}{2} \epsilon_i^{-m\theta} \leq (w^m)_t. \end{aligned}$$

Obviously

$$w_{ix}|_{x=0} = 0, \quad t > 0.$$

By (2) and the choice of k we have

$$\begin{aligned} w_{ix}|_{x=1} &= \epsilon_i^{-(\theta+\tau)} \frac{k\theta}{4} y^{-\theta-1}|_{x=1} \\ &= w_i^\alpha|_{x=1} \epsilon_i^{-(\theta+\tau)+\alpha\theta} \frac{k\theta}{4} \left(e^{-M(t-T_{i-1})} - \frac{1}{4} \right)^{(\alpha-1)\theta-1} \\ &\geq w_i^\alpha|_{x=1} \epsilon_i^{-(\theta+\tau)+\alpha\theta} \frac{k\theta}{4} \left(\frac{1}{4} \right)^{\alpha\theta} \\ &= w_i^\alpha|_{x=1} \epsilon^{p[(p+1)\alpha-(m+1)]/(m-p)(p+1)} \frac{k\theta}{4} \left(\frac{1}{4} \right)^{\alpha\theta} \\ &\geq w_i^\alpha|_{x=1} \frac{k\theta}{4} \left(\frac{1}{4} \right)^{\alpha\theta} \geq w_i^\alpha|_{x=1}, \quad t > 0 \end{aligned}$$

and

$$\begin{aligned} w_1(x, 0) &= \left\{ \epsilon_1 \left[1 - \frac{1}{4} (1 - \phi)^{k/\epsilon_1^\tau} \right] \right\}^{-\theta} \geq \epsilon_1^{-\theta} = \left(\frac{a}{4} \right)^\theta \\ &\geq \max_{0 \leq x \leq 1} u_0(x) \geq u_0(x), \quad 0 \leq x \leq 1. \end{aligned}$$

For $i = 2, \dots, N$, we have

$$\begin{aligned} w_{i-1}(x, T_{i-1}) &= \left\{ \epsilon_{i-1} \left[e^{-M(T_{i-1}-T_{i-2})} - \frac{1}{4} (1 - \phi)^{k/\epsilon_{i-1}^\tau} \right] \right\}^{-\theta} \\ &\leq \left(\epsilon_{i-1} \frac{1}{4} \right)^{-\theta} = \epsilon_i^{-\theta} \leq w_i(x, T_{i-1}), \quad 0 \leq x \leq 1. \end{aligned}$$

These show that w_i is an upper solution of (1) on Q_i . By the comparison principle we have $u \leq w_i$ on Q_i , $i = 1, \dots, N$. It is obvious that there exists $C(T) : 0 < C(T) < +\infty$ such that (4) holds. Hence the solutions of (1) exist globally.

Case 6. $m > p$ and $p < 1$. As in Case 5, it suffices to prove that for any $T > 0$ there exists $C(T) > 0$ such that (4) holds. To this aim, denote $\tau = \frac{p}{p+1}$, $\theta = \frac{p}{m-p}$, $k = \max\{1, 4^{\alpha\theta+1}/(p+1)\theta\}$, $M = \theta^{p-1}k^{p+1}(2\tau + p(\theta+2))/8^p\tau^{p+1}m$, $N = N(T)$, T_i as above. Take

$$w_i(x, t) = \left\{ \epsilon_i \left[e^{-M(t-T_{i-1})} - \frac{1}{4} (1 - \phi(x))^{k/\epsilon_i^\tau} \right] \right\}^{-\theta} = \epsilon_i^{-\theta} y^{-\theta},$$

where $\phi(x) = \frac{1}{2}(1 - x^{1+1/p})$, $\epsilon_i = a(\frac{1}{4})^i$, $i = 1, \dots, N$, and a is a constant to be determined later. As in Case 5, it is easy to prove that, for any fixed i , there exists $a > 0$ such that w_i is an upper solution of (1) on Q_i . By the comparison principle we have $u \leq w_i$ on Q_i , $i = 1, \dots, N$. It is obvious that there exists $C(T) : 0 < C(T) < +\infty$ such that (4) holds. Hence the solutions of (1) exist globally.

This completes the proof of Lemma 1.

LEMMA 2. *If $\alpha > \min\{\frac{m}{p}, \frac{m+1}{p+1}\}$, then the solution u of (1) blows up in a finite time.*

Proof. First, denote $\Theta(z) = z^{(p-1)\alpha - m + 1}(1 + \alpha z^{\alpha-1})$; then it is easy to verify that there exists $z_1 > 0$ such that $\Theta(z)$ is monotone for $z \geq z_1$. Choose z_0 such that $0 < z_0 < \min\{z_1, \delta\} \leq u_0(x)$; then there exist positive constants C_1 and C_2 such that $C_1 \leq \Theta(z) \leq C_2$ for $z_0 \leq z \leq z_1$. Let $z(s)$ be a solution of the following problem:

$$z'(s) = z^\alpha(s), \quad z(0) = z_0. \tag{5}$$

Denote the maximal existence time of solution of (5) by s_∞ . Evidently, $s_\infty \leq +\infty$, $z(s) \rightarrow \infty$ as $s \rightarrow s_\infty$ and there exists $0 < \lambda \leq 1$ such that $z_0 < z(\lambda) \leq \delta \leq u_0(x)$ and $\lambda < s_\infty$. Denote

$$C_3 = \min \left\{ \left(\frac{\lambda}{2} \right)^{p+1}, \frac{\lambda^2 p}{4} (1 + \epsilon z_0^{-2\alpha})^{(p-1)/2} \right\},$$

$$C_4 = \min \left\{ \frac{C_1 C_3}{m C_2}, \frac{C_3 \Theta(z_1)}{m C_2}, \frac{C_3}{m} \right\}, \quad \text{and}$$

$$C_5 = \min \left\{ \frac{C_1 C_3}{m C_2}, \frac{C_1 C_3}{m \Theta(z_1)}, \frac{C_3}{m} \right\}.$$

If $\Theta(z)$ is nondecreasing for $z \geq z_1$, then let $\theta(t)$ be a solution of

$$\theta'(t) = C_4 \Theta(z(\theta(t))), \quad t > 0, \quad \theta(0) = 0. \tag{6}$$

If $\Theta(z)$ is nonincreasing for $z \geq z_1$, then let $\theta(t)$ be a solution of

$$\theta'(t) = C_5 \Theta(z(\theta(t) + \lambda)), \quad t > 0, \quad \theta(0) = 0.$$

Since $\alpha > \min\{\frac{m}{p}, \frac{m+1}{p+1}\}$, the direct calculations yield

$$\int^{+\infty} \frac{dz}{z^\theta \Theta(z)} = \int^{+\infty} \frac{dz}{z^{p\alpha+1-m}(1 + \alpha z^{\alpha-1})} < +\infty.$$

Therefore, there exists $T_0 : 0 < T_0 < +\infty$ such that

$$\lim_{t \rightarrow T_0^-} z(\theta(t)) = \infty \quad \text{or} \quad \lim_{t \rightarrow T_0^-} z(\theta(t) + \lambda) = +\infty.$$

Set $w(x, t) = z(\theta(t) + \eta(x))$, where $\eta(x) = \frac{\lambda}{4}(x+1)^2$; then there exists $T_1 : 0 < T_1 \leq T_0 < \infty$ such that $w(x, t)$ is well defined on $[0, 1] \times [0, T_1]$ and $\lim_{t \rightarrow T_1^-} \|w(\cdot, t)\|_\infty = +\infty$.

Now we show that $w(x, t)$ is a lower solution of (1).

By the direct calculations we have for $0 < x < 1$ and $0 < t < T_1$

$$\begin{aligned} w_x &= \frac{\lambda}{2}(x+1)z^\alpha \geq \frac{\lambda}{2}z^\alpha, \\ w_{xx} &= \frac{\lambda}{2}z^\alpha + \frac{\alpha\lambda^2}{4}z^{2\alpha-1}(x+1)^2 \geq \frac{\lambda^2}{4}z^\alpha(1 + \alpha z^{\alpha-1}). \end{aligned}$$

In the following we verify that

$$\left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x \geq (w^m)_t. \quad (7)$$

First we show that

$$\left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x \geq C_3 z^{m-1+\alpha} \Theta(z). \quad (8)$$

In fact, for $p \geq 1$, we have

$$\begin{aligned} \left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x &= (w_x^2 + \epsilon)^{(p-1)/2-1} (p w_x^2 + \epsilon) w_{xx} \\ &\geq w_x^{p-1} w_{xx} = \left(\frac{\lambda}{2} \right)^{p-1} z^{\alpha p} \left(\frac{\lambda}{2} + \frac{\alpha\lambda^2}{4} z^{\alpha-1} \right) \\ &\geq \left(\frac{\lambda}{2} \right)^{p+1} z^{\alpha p} (1 + \alpha z^{\alpha-1}) \\ &= \left(\frac{\lambda}{2} \right)^{p+1} z^{m-1+\alpha} \Theta(z) \geq C_3 z^{m-1+\alpha} \Theta(z). \end{aligned}$$

For $p < 1$, we have

$$\begin{aligned}
 & \left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x \\
 &= (w_x^2 + \epsilon)^{(p-1)/2-1} (p w_x^2 + \epsilon) w_{xx} \\
 &\geq p (w_x^2 + \epsilon)^{(p-1)/2} w_{xx} \geq \frac{p \lambda^2}{4} \left((\lambda z^\alpha)^2 + \epsilon \right)^{(p-1)/2} z^\alpha (1 + \alpha z^{\alpha-1}) \\
 &\geq \frac{p \lambda^2}{4} z^{p\alpha} (\lambda^2 + \epsilon z_0^{-2\alpha})^{(p-1)/2} (1 + \alpha z^{\alpha-1}) \\
 &= \frac{p \lambda^2}{4} (\lambda^2 + \epsilon z_0^{-2\alpha})^{(p-1)/2} z^{m-1+\alpha} \Theta(z) \geq C_3 z^{m-1+\alpha} \Theta(z).
 \end{aligned}$$

This shows that (8) holds.

Next, we consider the following two cases respectively.

Case 1. $\Theta(z)$ is nondecreasing for $z \geq z_1$.

If $z = z(\theta(t) + \eta(x)) \in [z_0, z_1]$, then $z(\theta(t)) \in [z_0, z_1]$. Hence we have

$$\Theta(z(\theta(t))), \Theta(z(\theta(t) + \eta(x))) \in [C_1, C_2]. \tag{9}$$

By (6), (8), (9), and the choice of C_4 we have

$$\begin{aligned}
 (w^m)_t &= m z^{m-1} z' \theta'(t) = m z^{m-1+\alpha} C_4 \Theta(z(\theta(t))) \\
 &\leq m z^{m-1+\alpha} C_4 C_2 \leq z^{m-1+\alpha} C_1 C_3 \leq C_3 z^{m-1+\alpha} \Theta(z) \\
 &\leq \left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x.
 \end{aligned}$$

If $z = z(\theta(t) + \eta(x)) \geq z_1 \geq z(\theta(t))$, then we have

$$\Theta(z(\theta(t))) \leq C_2, \quad \Theta(z(\theta(t) + \eta(x))) \geq \Theta(z_1). \tag{10}$$

By (6), (8), (10), and the choice of C_4 we have

$$\begin{aligned}
 (w^m)_t &= m z^{m-1} z' \theta'(t) = m z^{m-1+\alpha} C_4 \Theta(z(\theta(t))) \\
 &\leq m z^{m-1+\alpha} C_4 C_2 \leq z^{m-1+\alpha} C_3 \Theta(z_1) \\
 &\leq C_3 z^{m-1+\alpha} \Theta(z) \leq \left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x.
 \end{aligned}$$

If $z = z(\theta(t) + \eta(x)) \geq z(\theta(t)) \geq z_1$, then we have

$$\begin{aligned}
 (w^m)_t &= m z^{m-1} z' \theta'(t) = m z^{m-1+\alpha} C_4 \Theta(z(\theta(t))) \\
 &\leq z^{m-1+\alpha} C_3 \Theta(z) \leq \left((w_x^2 + \epsilon)^{(p-1)/2} w_x \right)_x.
 \end{aligned}$$

Case 2. $\Theta(z)$ is nonincreasing for $z \geq z_1$.

The verification of (7) is similar to that of Case 1.

Obviously

$$w_x|_{x=0} \geq 0, \quad t > 0. \quad (11)$$

$$w_x|_{x=1} = \lambda z^\alpha|_{x=1} \leq z^\alpha|_{x=1} = w^\alpha|_{x=1}, \quad t > 0. \quad (12)$$

$$w(x, 0) = z(\eta(x)) \leq z(\lambda) \leq \delta \leq u_0(x), \quad x \in [0, 1]. \quad (13)$$

From (7), (11)–(13) we see that w is a lower solution of (1). By the comparison principle we have $w \leq u$. Obviously, w blows up in a finite time. And hence u blows up in a finite time.

The proof of Lemma 2 is completed.

By Lemmas 1 and 2 we get our theorem.

Remark. The results of the paper may be extended to the N -dimensional form of problem (1),

$$(|u|^{m-1}u)_t = \Delta_{p,\epsilon}u, \quad x \in \Omega \subset R^N, \quad t > 0,$$

$$\frac{\partial u}{\partial \eta} = u^\alpha, \quad x \in \partial\Omega, \quad t > 0,$$

$$u(x, 0) = u_0(x) \geq \delta > 0, \quad x \in \bar{\Omega},$$

where

$$\Delta_{p,\epsilon} = \sum_{i=1}^N \left((|u_{x_i}|^2 + \epsilon)^{(p-1)/2} u_{x_i} \right)_{x_i} \quad \text{or}$$

$$\Delta_{p,\epsilon} = \sum_{i=1}^N \left((|\nabla u|^2 + \epsilon)^{(p-1)/2} u_{x_i} \right)_{x_i}.$$

REFERENCES

1. H. W. Alt and S. Luckhaus, Quasilinear elliptic-parabolic differential equations, *Math. Z.* **183** (1983), 311–341.
2. H. Amann, Parabolic evolution equations and nonlinear boundary conditions, *J. Differential Equations* **72** (1988), 201–269.
3. J. R. Anderson, Local existence and uniqueness of solutions of degenerate parabolic equations, *Comm. Partial Differential Equations* **16**, No. 1 (1991), 105–143.
4. M. Chipot, M. Fila, and P. Quittner, Stationary solutions, blow-up and convergence to equations with nonlinear boundary conditions, *Acta Math. Univ. Comenian* **60** (1991), 35–103.
5. M. Chipot and J. Filo, An example of blow up for a degenerate parabolic equation with a nonlinear boundary condition, preprint.

6. K. Deng and M. X. Xu, Remarks on blow up behavior for a nonlinear diffusion equation with Neumann boundary conditions, *Proc. Amer. Math. Soc.* **127** (1999), 167–172.
7. E. Dibenedetto, “Degenerate Parabolic Equations,” Springer-Verlag, Berlin/New York, 1993.
8. J. Escher, Global existence and nonexistence for semilinear parabolic systems with nonlinear boundary conditions, *Math. Ann.* **284**, No. 2 (1989), 285–305.
9. M. Fila and J. Filo, Blow-up on the boundary: a survey, in “Singularities and Differential Equations,” Banach Center Publications, Vol. 33, Polish Academic of Science, Warszawa, 1996.
10. J. Filo, Diffusivity versus absorption through the boundary, *J. Differential Equations* **99** (1992), 281–305.
11. J. Filo and J. Kacur, Local existence of general nonlinear parabolic systems, *Nonlinear Anal.* **24** (1995), 1597–1618.
12. O. A. Ladyzenskaja, V. A. Solonnikov, and N. N. Uralcevz, “Linear and Quasilinear Equations of Parabolic Type,” Translations of Math. Monographs, Am. Math. Soc., Providence, 1968.
13. H. A. Levine, The role of critical exponents in blow up theorem, *SIAM Rev.* **32** (1990), 262–288.
14. H. Levine and L. E. Payne, Nonexistence theorems for the heat equation with nonlinear boundary condition and for the porous medium equations backward in time, *J. Differential Equations* **16** (1974), 319–334.
15. H. A. Levine and R. A. Smith, A potential well theory for the heat equation with a nonlinear boundary condition, *Math. Methods Appl. Sci.* **9** (1987), 127–136.
16. C. V. Pao, “Nonlinear Parabolic and Elliptic Equations,” Plenum, New York/London, 1992.
17. M. X. Wang and Y. H. Wu, Global existence and blow up problems for quasilinear parabolic equations with a nonlinear boundary conditions, *SIAM J. Math. Anal.* **24**, No. 6 (1993), 1515–1521.
18. S. Wang, M. X. Wang, and C. H. Xie, Reaction-diffusion systems with nonlinear boundary conditions, *J. Appl. Math. Phys.* **48** (1997), 994–1001.
19. Q. X. Ye and Z. Y. Li, “Introduction to Reaction–Diffusion Equations,” Science Press, Beijing, 1990 (in Chinese).